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Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-yvear-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about climate change and the future; Leon. 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires: Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can’t focus on schoolwork,

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxietv related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. However, most empirical studies on eco-
anxiety to date surveved the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support, community outreach, and
public engagement.

Media coverage of ecological erisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and visually,
contributing to a sense of doom and gloom. Hope is central to humanity's survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions

Question Number : 1 Question Id : 92090611140 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Based on the information in the passage, it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety, its characteristics and context have been fully understood through
extensive research.

() The negative impacts of climate change affect behaviour, relationships and
overall well-being,

Choose the correct answer from the options given below :

(1)  (A)only
(2)  (B)only
(3) (C) only
(4)  (D)only

Options :

92090644001. 1
92090644002. 2
92090644003. 3
92090644004. 4

Question Number : 2 Question Id : 92090611141 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List I with their meanings in List 11 :

List 1 List I1

(A)  Apocalyptic {I)'  Related to human existence

(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event

() Existential (III} Prophesying a disaster or
total destruction

(D} Vignettes (IV) Relationship to an imagined

society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-aV), (B)-(11D), (C)-(1D), (D)-(1)
(2) (AL, (B)-(11), (C)-(IV), (D)-(D)
(3 (A, (B)-aAV), (C)-(D), (D)-(1L)
) (A)-aV), B)-(D), (O)-(1D, (D)-(11)

Options :

92090644005. 1
92090644006. 2
92090644007. 3
92090644008. 4



Question Number : 3 Question Id : 92090611142 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity’s survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is tryving to:

(1)  instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can't be taken lightly or ignored.
(3)  assure that hope will resolve the issue of Eco-anxiety.
(4)  mock the idea that hope and an optimistic approach can resolve the issue of
Eco-anxiety.
Options :
920906440009. 1
92090644010. 2
92090644011. 3
92090644012. 4

Question Number : 4 Question Id : 92090611143 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1I to complete the information on the basis of your reading
from the passage.

List I List 11
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of elimate change anger and lusomnia

(B) Experience of Eco-anxiety includes (II) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (111} Uncertainty, Unpredictability,
uncontrollability

(D) Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)(LI), (B)-(IV), (C)-(D), (D)-(11)
(2 (A)-AV), (B)-(ID), (C)-(11D), (D)-(I)
@ (A)-AV), (B)-(D), (O)-(11), (D)-(1IT)
(4 (A)-AD), (B)-(I), (C)-(IV), (D)-(I)

Options :

92090644013. 1
92090644014. 2
92090644015. 3
92090644016. 4



Question Number : 5 Question Id : 92090611144 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) thev are poor communicators and do not share their fears with health
professionals

Options :

92090644017. 1
92090644018. 2
92090644019. 3
92090644020. 4

Question Id : 92090611139 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HRead the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-yvear-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about climate change and the future; Leon. 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires: Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can’t focus on schoolwork,

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxietv related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. However, most empirical studies on eco-
anxiety to date surveved the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors. and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support, community outreach, and
public engagement.

Media coverage of ecological erisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and visually,
contributing to a sense of doom and gloom. Hope is central to humanity's survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions

Question Number : 1 Question Id : 92090611140 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Based on the information in the passage, it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety, its characteristics and context have been fully understood through
extensive research.

() The negative impacts of climate change affect behaviour, relationships and
overall well-being,

Choose the correct answer from the options given below :

(1)  (A)only
(2)  (B)only
(3) (C) only
(4)  (D)only

Options :

92090644001. 1
92090644002. 2
92090644003. 3
92090644004. 4

Question Number : 2 Question Id : 92090611141 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the words in List I with their meanings in List 11 :

List 1 List I1

(A)  Apocalyptic {I)'  Related to human existence

(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event

() Existential (III} Prophesying a disaster or
total destruction

(D} Vignettes (IV) Relationship to an imagined

society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-aV), (B)-(11D), (C)-(1D), (D)-(1)
(2) (AL, (B)-(11), (C)-(IV), (D)-(D)
(3 (A, (B)-aAV), (C)-(D), (D)-(1L)
) (A)-aV), B)-(D), (O)-(1D, (D)-(11)

Options :

92090644005. 1
92090644006. 2
92090644007. 3
92090644008. 4



Question Number : 3 Question Id : 92090611142 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity’s survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is tryving to:

(1)  instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can't be taken lightly or ignored.
(3)  assure that hope will resolve the issue of Eco-anxiety.
(4)  mock the idea that hope and an optimistic approach can resolve the issue of
Eco-anxiety.
Options :
920906440009. 1
92090644010. 2
92090644011. 3
92090644012. 4

Question Number : 4 Question Id : 92090611143 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1I to complete the information on the basis of your reading
from the passage.

List I List 11
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of elimate change anger and lusomnia

(B) Experience of Eco-anxiety includes (II) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (111} Uncertainty, Unpredictability,
uncontrollability

(D) Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)(LI), (B)-(IV), (C)-(D), (D)-(11)
(2 (A)-AV), (B)-(ID), (C)-(11D), (D)-(I)
@ (A)-AV), (B)-(D), (O)-(11), (D)-(1IT)
(4 (A)-AD), (B)-(I), (C)-(IV), (D)-(I)

Options :

92090644013. 1
92090644014. 2
92090644015. 3
92090644016. 4



Question Number : 5 Question Id : 92090611144 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090644017. 1
92090644018. 2
92090644019. 3
92090644020. 4

Sub-Section Number : 2
Sub-Section Id : 920906363
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090611145 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the blanks in List | with the appropriate phrasal verb in List II :

List | List I1

(A) Students usually speak (I) fell-out
French during class by

occasionally English.
(B) The English professor (II) lapse into
wanted to _ the

importance of additional
reading to his students

(C) Capital punishment (I11) done away with
was___ several yvears ago
in Britain.

(D) I with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(LLL), (B)-(10), (C)-(D), (DY-(IV)
(2)  (A)(1D). (B)-(IV). (C)-(1), (D)-(111)
(3 (A, (B)-(IV), (C)-(11), (D)-(111)
4)  (A)-ID, (B)-AV), (C)-(111), (D)-(1)

Options :
92090644021. 1
92090644022. 2



92090644023. 3
92090644024. 4

Question Number : 6 Question Id : 92090611145 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh the blanks in List | with the appropriate phrasal verb in List 11 :

List [ List I1

(A) Students usually speak (I) fell-out
French during class by
occasionally _ English.

(B) The English professor (L) lapse into
wanted to __ the
importance of additional
reading to his students

(C) Capital punishment (I11) done away with
was___ several vears ago
in Britain.

(D) I with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(LLL), (B)-(10), (C)-(D), (D)-(IV)
(2) (A)-(1D), (B)-(IV). (C)-(1), (D)-(L1L)
(3) (A)-(D), (B)-(IV), (C)-(11), (D)-(L11)
(4) (A)-(11}, (B)-(IV), (C)-(111}), (D}-(1)

Options :

92090644021. 1
92090644022. 2
92090644023. 3
92090644024. 4

Question Number : 7 Question Id : 92090611146 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3 IDIOSYNCRASY (4) IDAOOSYNCRASY
Options :

92090644025. 1
92090644026. 2
92090644027. 3
92090644028. 4



Question Number : 7 Question Id : 92090611146 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (4) IDAOOSYNCRASY
Options :

92090644025. 1
92090644026. 2
92090644027. 3
92090644028. 4

Question Number : 8 Question Id : 92090611147 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia __ an
accused __ a case concerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2) in, with, as, in

(3) in, on, with, for {(4) in, on, in, as

Options :

92090644029.
92090644030.
92090644031.
92090644032.

AW N =

Question Number : 8 Question Id : 92090611147 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia __ an
accused __ a case concerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2) in, with, as, in

(3) in, on, with, for (4) in, on, in, as

Options :

92090644029.
92090644030.
92090644031.
92090644032.

AW N =

Question Number : 9 Question Id : 92090611148 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah {2) Panache
(3)  Perjury (4) Petrology
Options :

92090644033. 1
92090644034. 2
92090644035. 3
92090644036. 4

Question Number : 9 Question Id : 92090611148 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3)  Perjury (4) Petrology
Options :

92090644033. 1
92090644034. 2
92090644035. 3
92090644036. 4

Question Number : 10 Question Id : 92090611149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Syvnonym of the word "TRAIT is :

(1) Symbol (2) Characteristic
(3) Colour (4) Habit
Options :

92090644037. 1
92090644038. 2
92090644039. 3
92090644040. 4

Question Number : 10 Question Id : 92090611149 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Syvnonym of the word "TRAIT is :

(1) Symbol (2) Characteristic
(3) Colour {(4) Habit
Options :

92090644037. 1
92090644038. 2
92090644039. 3
92090644040. 4

Question Number : 11 Question Id : 92090611150 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =1—D , then find the value of cot 8:

f
|

(1)

J

(2)

-t
L
(%]

(3

[
La | o

(4)

L |

Options :

92090644041. 1
92090644042. 2
92090644043. 3
92090644044. 4

Question Number : 11 Question Id : 92090611150 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =1—D , then find the value of cot 8:

f
|

(1)

J

(2)

-t
L
(%]

(3

[
La | o

(4)

L |

Options :

92090644041. 1
92090644042. 2
92090644043. 3
92090644044. 4

Question Number : 12 Question Id : 92090611151 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A journev takes 35 minutes while moving with a speed of 32 kmm/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3 30 (4 33
Options :

92090644045. 1
92090644046. 2
92090644047 3
92090644048. 4

Question Number : 12 Question Id : 92090611151 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journev takes 35 minutes while moving with a speed of 32 kmm/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3 30 (4 33
Options :

92090644045. 1
92090644046. 2
92090644047. 3
92090644048. 4

Question Number : 13 Question Id : 92090611152 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 2) 15
(3) 16 (4) 20
Options :

92090644049. 1
92090644050. 2
92090644051. 3
92090644052. 4

Question Number : 13 Question Id : 92090611152 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 15
(3) 16 (4 20



Options :

92090644049. 1
92090644050. 2
92090644051. 3
92090644052. 4

Question Number : 14 Question Id : 92090611153 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 cm is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) Zcm
(3) G em {4 SBcm
Options :

92090644053. 1
92090644054. 2
92090644055. 3
92090644056. 4

Question Number : 14 Question Id : 92090611153 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 cm is made of modelling clay. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) G em {4 SBcm
Options :

92090644053. 1
92090644054. 2
92090644055. 3
92090644056. 4

Question Number : 15 Question Id : 92090611154 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of T 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) T 2,400 (2) 5,000
(3) 5,300 (4) T2700
Options :

92090644057. 1
92090644058. 2



92090644059. 3
92090644060. 4

Question Number : 15 Question Id : 92090611154 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of ¥ 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) T 2,400 (2y 5,000
(3) 5,300 (4) T 2,700
Options :

92090644057. 1
92090644058. 2
92090644059. 3
92090644060. 4

Question Number : 16 Question Id : 92090611155 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420 = 20— 20 = 20=20

(1) + and = (2) +and-
(3) + and x (4) > and=+
Options :

92090644061. 1
92090644062. 2
92090644063. 3
92090644064. 4

Question Number : 16 Question Id : 92090611155 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420+ 20— 20 »x 20 =20

(1) + and = (2) +and-
(3) + and x {4) »and=
Options :

92090644061. 1
92090644062. 2



92090644063. 3
92090644064. 4

Question Number : 17 Question Id : 92090611156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

B3G9 : 4258 :: 9875 : 7

(1) B763 (2) 8764
(3) 7764 (4) 7763
Options :

92090644065. 1
92090644066. 2
92090644067. 3
92090644068. 4

Question Number : 17 Question Id : 92090611156 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

B3G9 : 4258 :: 9875 : 7

(1) B763 (2) 8764
(3) 7764 (4) 7763
Options :

92090644065. 1
92090644066. 2
92090644067 3
92090644068. 4

Question Number : 18 Question Id : 92090611157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boyv playing is the vounger of two brothers of the daughter
ol my Father's wife”. How 13 the boy who 12 playing 18 related to Milind:

(1) Brother (2) Brother-in-law
(3 Son {(4) Cousin
Options :

92090644069. 1
92090644070. 2
92090644071. 3
92090644072. 4



Question Number : 18 Question Id : 92090611157 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boy playing is the younger of two brothers of the daughter
ol my Pather's wile”. How 12 the buy who 18 playing 1s related to Milind:

(1) Brother (2) Brother-in-law
(3) Son {(4) Cousin
Options :

92090644069. 1
92090644070. 2
92090644071. 3
92090644072. 4

Question Number : 19 Question Id : 92090611158 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Every student can afford to buy the book.

{Il) The book is well-written

(1)  If only assumption I is implicit
(2)  If only assumption Il is implicit
(3)  If neither I nor 11 is implicit

(4)  If both assumption I and Il are implicit

Options :

92090644073. 1
92090644074. 2
92090644075. 3
92090644076. 4

Question Number : 19 Question Id : 92090611158 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Every student can afford to buy the book.

(I1) The book is well-written

(1) If only assumption 1 is implicit
(2) If only assumption I is implicit
(3) If neither I nor 11 is implicit
(4)  1If both assumption | and Il are implicit
Options :
92090644073. 1
92090644074. 2
92090644075. 3
92090644076. 4

Question Number : 20 Question Id : 92090611159 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions ¢ (I) Some pens are chairs,
(II} Some chalks are pens.

(1)

If conelusion (1) follows
(2) If conelusion (1I) follows
(3) If either conclusion (I) or (II) follows

(EN] Both conclusion (I) and (11 follows

Options :

92090644077. 1
92090644078. 2
92090644079. 3
92090644080. 4



Question Number : 20 Question Id : 92090611159 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements ¢ (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs,

(II}) Some chalks are pens.

If conelusion (1) follows
(2) If conclusion (1) follows
(3) If either conclusion (1) or (I1) follows

(4) Both conclusion (I) and (IT) follows

Options :

92090644077. 1
92090644078. 2
92090644079. 3
92090644080. 4

Question Number : 21 Question Id : 92090611160 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetie river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhvan Range (4) Satpura Hills
Options :

92090644081. 1
92090644082. 2
92090644083. 3
92090644084. 4

Question Number : 21 Question Id : 92090611160 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetie river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyvan Range (4) Satpura Hills
Options :

92090644081. 1



92090644082. 2
92090644083. 3
92090644084. 4

Question Number : 22 Question Id : 92090611161 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List I List 11
(Name of committee) (Various sector of India
Economy)
(A) Bimal Jalan Committee (I} Corporate Governance
(B) Birla Committee (II} Improving national

highways in India
() S R Harhim Committee (111) Urban povertw

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(11L), (C)-(IV), (D)-(1)
(2) (A)-(I), (B)-(IV), (C)-(111), (D)-(11)
(3) (A)-(IV), (B)-(1), (C)-(111), (D)-(11)
(4) (A)-(IV), (B)-(I), (C)-(11}, (D)-(LLI)

Options :

92090644085. 1
92090644086. 2
92090644087. 3
92090644088. 4

Question Number : 22 Question Id : 92090611161 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11 :

List 1 List 11
Name of committes) (Various sector of India
Economy)
(A) Bimal Jalan Committee (I} Corporate Governance

(B) Birla Committee (1) Improving national
highways in India

() S R Harhim Committee (111) Urban poverty

(D) Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(11L), (C)-(IV), (D)-(1)
(2) (A)-(I), (B)-(IV), (C)-(111), (D)-(11)
(3) (A)-(IV), (B)-(1), (C)-(111), (D)-(11)
(4) (A)-(IV), (B)-(I), (C)-(11}, (D)-(LLI)

Options :

92090644085. 1
92090644086. 2
92090644087. 3
92090644088. 4

Question Number : 23 Question Id : 92090611162 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Digi Yatra' facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT) (4) Port

Options :

92090644089. 1
92090644090. 2
92090644091. 3
92090644092. 4

Question Number : 23 Question Id : 92090611162 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Digi Yatra' facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT)  (4) Port

Options :
92090644089. 1



92090644090. 2
92090644091. 3
92090644092. 4

Question Number : 24 Question Id : 92090611163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jiven below are two statements :

Statement [ : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement II  :  Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement [ are incorrect
(3) Statement I is correct but Statement [1 is incorrect

(4) Statement 1 is incorrect but Statement 11 is correct

Options :

92090644093. 1
92090644094. 2
92090644095. 3
92090644096. 4

Question Number : 24 Question Id : 92090611163 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement II  :  Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement [ are incorrect
(3) Statement 1 is correct but Statement 11 is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :
92090644093. 1
92090644094. 2

92090644095. 3
92090644096. 4

Question Number : 25 Question Id : 92090611164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine (4) Aadhar based digital signature
Options :

92090644097. 1
92090644098. 2
92090644099. 3
92090644100. 4

Question Number : 25 Question Id : 92090611164 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090644097. 1
92090644098. 2



92090644099. 3
92090644100. 4

Part B: Applied Microbiology

Section Id : 920906222
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906364
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090611165 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Scientists demonstrated that crossing over involves physical
exchange between chromatids?

(1) T.H. Morgan 2y B. McClintock
(3)  A.H. Sturtevant (4) C. Bridges
Options :

92090644101. 1
92090644102. 2
92090644103. 3
92090644104. 4

Question Number : 26 Question Id : 92090611165 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁ%ﬁﬁﬂﬁmmﬂﬂﬁmﬁhﬁmfﬁ#ﬁmﬂamﬁmwm
g e?

(1) duw A (2) ot 8 fades
(3) QU A< (4) 4 foea
Options :

92090644101. 1
92090644102. 2



92090644103. 3
92090644104. 4

Question Number : 27 Question Id : 92090611166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Symmetry of head in T; Phage 1s:

(1) Icosahedral (2) Helical
(3) Complex (4) Simple
Options :

92090644105. 1
92090644106. 2
92090644107. 3
92090644108. 4

Question Number : 27 Question Id : 92090611166 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, fanieht & R &t wwfnfa gt 8l

(1) et 2) Pefay

3) s 4) T
Options :

92090644105. 1
92090644106. 2
92090644107. 3
92090644108. 4

Question Number : 28 Question Id : 92090611167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a eukaryotic microorganism?

(1) Bacterium (2) Cyanocbacterium
(3) Algae (4) Avrchaea
Options :

92090644109. 1
92090644110. 2
92090644111. 3
92090644112. 4

Question Number : 28 Question Id : 92090611167 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Fra & @ &1 91 g Rdie U Y& oid 87

(1)  Sfamn (2) TEAEEEE

3) Xad (4) MBI/
Options :

92090644109. 1
92090644110. 2
92090644111. 3
92090644112. 4

Question Number : 29 Question Id : 92090611168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 phage follows ._..._..._.__.... Cycle.

(1) Litic {2) Lysogenic

B Both lytic and lysogenic (4) Cell cycle
Options :

92090644113. 1
92090644114. 2
92090644115. 3
92090644116. 4

Question Number : 29 Question Id : 92090611168 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, faitel fm Teh BT ST Bl ¢ |

(1) @G 2) TS
(3) @Y aYl aaeHD il (4) BB TH
Options :

92090644113. 1
92090644114. 2
92090644115. 3
92090644116. 4

Question Number : 30 Question Id : 92090611169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UV light causes formation of following dimer in DNA:

(1) AA dimer (2) UV dimer
(3) TT dimer (4) GG dimer
Options :

92090644117. 1
92090644118. 2
92090644119. 3
92090644120. 4

Question Number : 30 Question Id : 92090611169 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uv yaTe S ¥ Py fgaa &1 oo s g

(m  AAfgog 2) uu fgaa
@ TTigam (4) GG fgaa
Options :

92090644117. 1
92090644118. 2
92090644119. 3
92090644120. 4

Question Number : 31 Question Id : 92090611170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Methanogens belong to which group?

(1) Euhaecteria (2) Archaea
(3) Eubacteria and Archaea (4) Eukarya
Options :

92090644121. 1
92090644122. 2
92090644123. 3
92090644124. 4

Question Number : 31 Question Id : 92090611170 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



He=re e 8 4 e |eg @ Hdfa g7

(1) gasifen (2) 3!
(3) g aur st (4) gHi
Options :

92090644121. 1
92090644122. 2
92090644123. 3
92090644124. 4

Question Number : 32 Question Id : 92090611171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Generation time of E. eoli growing in nutrient broth at 37 °C is:

(1) 90 minutes (2) 17 minutes
(3) 50 minutes (4) 60 minutes
Options :

92090644125. 1
92090644126. 2
92090644127. 3
92090644128. 4

Question Number : 32 Question Id : 92090611171 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0I9eh QR H 37° T I §1 d1d 5. Hicil b1 o H1d 1 g7

(1 90 e @ 17
3) sofEAe 4) 60 e
Options :

92090644125. 1
92090644126. 2
92090644127. 3
92090644128. 4

Question Number : 33 Question Id : 92090611172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is a prophage?
(1)  Free Bacteriophage DNA

(2) Bacteriophage DNA integrated into the bacterial genome
(3)  Bacterial DNA integrated into Bacteriophage DNA
(4) Free bacterial DNA

Options :

92090644129. 1
92090644130. 2
92090644131.3
92090644132. 4

Question Number : 33 Question Id : 92090611172 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wi Teh @ g2

(1) Eddd SianfEadst e

(2)  SIENE S & HIY Uebldd SitEToHTST S1EA.T
3)  wiaEnfadeh S d teled shane g
(4) oA SflaNE ST

Options :

92090644129. 1
92090644130. 2
92090644131.3
92090644132. 4

Question Number : 34 Question Id : 92090611173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Beta-galactocidase gene inducer is:

(1) (lucose (2) Mannose
(3) Betaine (4) Allolactose
Options :

92090644133. 1
92090644134. 2
92090644135. 3
92090644136. 4

Question Number : 34 Question Id : 92090611173 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



die-AeaIESd ofiF f[AiRe &1 41 82

(1) Tl (2) B
@) @ (4) UdriEEr™
Options :

92090644133. 1
92090644134. 2
92090644135. 3
92090644136. 4

Question Number : 35 Question Id : 92090611174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the transversion mutations:

(1) Purine is substituted for a pyrimidine
(2)  Purine is substituted for a purine
(3)  Pyrimidine is substituted for a pyrimidine

(4) An extra purine is inserted

Options :

92090644137. 1
92090644138. 2
92090644139. 3
92090644140. 4

Question Number : 35 Question Id : 92090611174 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3o Jaafad= | -

(1) o o1 RfaTs ulidwiftd g
@ o e gl & fo it g
3) fafRimfea o affafesa & oo aftenfta g

(4) TS AfAfvaedia STe o g

Options :

92090644137. 1
92090644138. 2
92090644139. 3
92090644140. 4

Question Number : 36 Question Id : 92090611175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following cyanobacteria is not used as biofertilizer?

(1) Nostoc {2y Anabaena
{(3)  Stigonema (1) Seytonema
Options :

92090644141. 1
92090644142. 2
92090644143. 3
92090644144. 4

Question Number : 36 Question Id : 92090611175 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFofea & 9 o1 o graaeeiiar dagdid & wu J Iuan 78 gian

(1) AEi® (2) T
(3) (4) THIZCHMA
Options :

92090644141. 1
92090644142. 2
92090644143. 3
92090644144. 4

Question Number : 37 Question Id : 92090611176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is the non-symbiotic biofertilizer?

(1)  Anabaena (2) Aszolla
(3) Rhizobium (4) Azotobacter
Options :

92090644145. 1
92090644146. 2
92090644147 3
92090644148. 4

Question Number : 37 Question Id : 92090611176 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& § &9 91 srgeild! Saadid g2

(1) oA (2) Sfgren
(3) USwfegy (4) IElaa



Options :

92090644145. 1
92090644146. 2
92090644147. 3
92090644148. 4

Question Number : 38 Question Id : 92090611177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In microbial interaction, if one organism adwversely effects another organism, it is
known as:

(1) Commensalism (2) Mutualism
{(3) Amensalism (4) Competition
Options :

92090644149. 1
92090644150. 2
92090644151. 3
92090644152. 4

Question Number : 38 Question Id : 92090611177 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gerolidt sia:frar &, ofg v offd g ofld W ufdee yue Saa €, d@ 39

Hed el

(1)  HeHifeEn (2) UREfEd
3) sy (4) ufcreasd
Options :

92090644149. 1
92090644150. 2
92090644151. 3
92090644152. 4

Question Number : 39 Question Id : 92090611178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which organelle is absent in plant cells compared to animal cells?

(1) Mitochondria (2) Nucleus
(3) Centrosomes (4} Ribosomes
Options :

92090644153. 1
92090644154. 2



92090644155. 3
92090644156. 4

Question Number : 39 Question Id : 92090611178 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oig ST B o1 § S 91 SIS urey SR F i g g?

(1) HESHTga (2) SHad
3) e (4) TG
Options :

92090644153. 1
92090644154. 2
92090644155. 3
92090644156. 4

Question Number : 40 Question Id : 92090611179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Crossing over takes place during which phase of meiosis?

(1) Pachytene (2) Diplotene
(3) Diakinesis (4) Metaphasel
Options :

92090644157. 1
92090644158. 2
92090644159. 3
92090644160. 4

Question Number : 40 Question Id : 92090611179 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ez it fby s o faffma g 22

() OB 2) e
3) CRHRANY (4) HeTH |
Options :

92090644157. 1
92090644158. 2
92090644159. 3
92090644160. 4

Question Number : 41 Question Id : 92090611180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Dominant plant genotype can be determined by:

(1) Back Cross {2) Hybrid Cross
(3)  Test Cross (4) Dihybrid Cross
Options :

92090644161. 1
92090644162. 2
92090644163. 3
92090644164. 4

Question Number : 41 Question Id : 92090611180 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl UIgy SfiHIeEY S gr1 i fasan on 9 g1 @iAuE)
(1)  Wdlg dHe (2) gEfIs 4

(3)  odiemd Ha @) feda

Options :

92090644161. 1
92090644162. 2
92090644163. 3
92090644164. 4

Question Number : 42 Question Id : 92090611181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In one of the Mendel's crosses, he observed 315 round yellow, 108 round green, 101
wrinkled yellow and 32 wrinkled green F2 plants. ldentify the tvpe of cross.

(1) Dihybrid Cross (2) Trihybrid Cross
(3) Epistasis (4) Monohybrid Cross
Options :

92090644165. 1
92090644166. 2
92090644167. 3
92090644168. 4

Question Number : 42 Question Id : 92090611181 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faftr Gepoll 3 @ v A Hsa A 315 Tiiera 11, 108 el @ €Y, 101 IR du1 32 TR &
el &1 )

(1) fedey e (2) PBrieyden
(3) UORRE (4) UdHdDH b1
Options :

92090644165. 1
92090644166. 2
92090644167 3
92090644168. 4

Question Number : 43 Question Id : 92090611182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cell cycle is regulated by:

(1)  Cycling phosphorylation
(2)  Cweling dephosphorylations
(3)  Cyclins dependent cyclins dephosphorlations

(4)  Protein phosphorylation and degradation

Options :

92090644169. 1
92090644170. 2
92090644171. 3
92090644172. 4

Question Number : 43 Question Id : 92090611182 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 9% &) fgs g fafrafid fear s &2

(1w wlesidso
2) arefda wlesfdso
(3)  wnEfae wiaddfad arsfda wies e
@) W @1 wlepietaor aur Fdiso
Options :
92090644169. 1
92090644170. 2

92090644171. 3
92090644172. 4

Question Number : 44 Question Id : 92090611183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The disaccharide which gives two same monosaccharide on hydrolysis is:

(1) Sucrose (2) Lactose
(3) Maltose (4) Lactulose
Options :

92090644173. 1
92090644174. 2
92090644175. 3
92090644176. 4

Question Number : 44 Question Id : 92090611183 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W STEEH BT TR B 1 ST5-9H1gs 31 U A HHI-8F T3S HeH Sl 67

(1) b (2) dFRd
@) W (4) AN
Options :

92090644173. 1
92090644174. 2
92090644175. 3
92090644176. 4

Question Number : 45 Question Id : 92090611184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following animals, environmental factors determine the sex?

(1) Snake (2) Monkey
(3) Turtles (4) Grasshoppers
Options :

92090644177. 1
92090644178. 2
92090644179. 3
92090644180. 4

Question Number : 45 Question Id : 92090611184 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o & @ fa umoft & fef Refror qafavofia sre! g/ &1 o 82
m ud (2 ¥R

(3) Fgal (4) fegr

Options :



92090644177. 1
92090644178. 2
92090644179. 3
92090644180. 4

Question Number : 46 Question Id : 92090611185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In recessive mutation:

(1) Gene expressed only when heterozygous
(2)  Gene expressed when homozygous
(3) Gene is not expressed

(4)  Gene is eliminated by natural selection

Options :

92090644181. 1
92090644182. 2
92090644183. 3
92090644184. 4

Question Number : 46 Question Id : 92090611185 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

syt Jafvada & -

() o fmgmsl €9 w8 sifiew 81 8
(2) o gEgEel g R SifieTad gid 2|

3) i sifirege g gl

(4) i %! Uipfae 997 gRI1 gel faa S g

Options :

92090644181. 1
92090644182. 2
92090644183. 3
92090644184. 4

Question Number : 47 Question Id : 92090611186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Tag DNA polymerase from Thermus aguaticus belongs to which class of DNA
Polymerase?

(1) 1 (2) I
(3) 11 (4) IV

Options :



92090644185. 1
92090644186. 2
92090644187. 3
92090644188. 4

Question Number : 47 Question Id : 92090611186 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yife ufareg & 9 € v v iy, €heau ofdidys & i of @ ddéfia g2

(m (2) 1
(3) n 4 v

Options :

92090644185. 1
92090644186. 2
92090644187. 3
92090644188. 4

Question Number : 48 Question Id : 92090611187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In humans, the most abundant protein is:

(1) Lysozyme (2) Keratin
(3) Collagen (4) Immunoglobulin
Options :

92090644189. 1
92090644190. 2
92090644191. 3
92090644192. 4

Question Number : 48 Question Id : 92090611187 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ural § waffies g & aran i aren 9 & -

(1) EEETEH 2) *ufeA
3) @rame (4) SEEANEEA
Options :

92090644189. 1
92090644190. 2
92090644191. 3
92090644192. 4



Question Number : 49 Question Id : 92090611188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Succession process in which microorganisms modify the habitat in a wayv that
permit new populations to develop is called:

(1) Allogenic Succession (2) Community Succession
(3 Secondary Succession (4) Autogenic Succession
Options :

92090644193. 1
92090644194. 2
92090644195. 3
92090644196. 4

Question Number : 49 Question Id : 92090611188 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
! gg uftsan forgd garella U Mard &1 38 UeR Fuiald #d § Red 37!

AE &1 fae™ g1 umn g, 39 FHEd gl
(1) SIS B (2) WHEAS SFHH
3) fadius s 4) @i swa
Options :

92090644193. 1
92090644194. 2
92090644195. 3
92090644196. 4

Question Number : 50 Question Id : 92090611189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In vertebrates, fat is stored in the form of®

(1)  Arachidonic acid (2) Triacylglycerols
(3)  Waxes (4} Oleic Acid
Options :

92090644197. 1
92090644198. 2
92090644199. 3
92090644200. 4

Question Number : 50 Question Id : 92090611189 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

SRedIg wiitrdl § aw Fafafad 7 9 by wu # dufed gl 82

(1) sRfseiHe 3 (2) crRuaEsd el
(3 ©H (4) 3ichie v
Options :

92090644197. 1
92090644198. 2
92090644199. 3
92090644200. 4

Question Number : 51 Question Id : 92090611190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following immunoglobulin class is found in maximum concentrations in
blood?

(1) IgA (2 lgG
(3) IgkE (4 IgM
Options :

92090644201. 1
92090644202. 2
92090644203. 3
92090644204. 4

Question Number : 51 Question Id : 92090611190 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafaa & @ fcramdrsgfem @19 w1 avf |ftk wigar & siffean urm ara g2

(1 IgA 2) IgG
(3) IgE 4) I1gM
Options :

92090644201. 1
92090644202. 2
92090644203. 3
92090644204. 4

Question Number : 52 Question Id : 92090611191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the plasma membrane, the most abundant lipids are:

(1) Sterol (2) Cholesterol
()  Phospholipid (4) Glycolipid
Options :

92090644205. 1
92090644206. 2
92090644207. 3
92090644208. 4

Question Number : 52 Question Id : 92090611191 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e e & Haifs uer amn & #1491 fafde 82

m feda (2) Do
@) wresfufte (4) Tengsifeie
Options :

92090644205. 1
92090644206. 2
92090644207. 3
92090644208. 4

Question Number : 53 Question Id : 92090611192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the red light region, which pigment has higher absorbance:

(1) Carotene {2) Chlorophyll A
(3)  Chlorophyll B (4} Chlorophyll A & B
Options :

92090644209. 1
92090644210. 2
92090644211. 3
92090644212. 4

Question Number : 53 Question Id : 92090611192 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ard U1l &3 H 1 | quies &1 waffie saxiris g2

(1)  HAH (2) Faftha U
(3) SORIfthd &l (4) FARIMP U qun o



Options :

92090644209. 1
92090644210. 2
92090644211. 3
92090644212. 4

Question Number : 54 Question Id : 92090611193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is most abundant enzyme on this planet?

(1) Catalase (2) Amylase
(3) RuBisCo (4) Carbonic anhydrase
Options :

92090644213. 1
92090644214. 2
92090644215. 3
92090644216. 4

Question Number : 54 Question Id : 92090611193 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
29 U8 IR DI 9l T5H 9a4 ¥ ugal d g2

(1) ey (2) THIEAN
(3)  SldH®! (Rubisco) (4) DEMD TEEad
Options :

92090644213. 1
92090644214. 2
92090644215. 3
92090644216. 4

Question Number : 55 Question Id : 92090611194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Seed dormancy is due to the accumulation of?

(1) Auxin (2) Gibberellin
(3)  Abscisic acid (4) Cytokinin
Options :

92090644217. 1
92090644218. 2
92090644219. 3
92090644220. 4



Question Number : 55 Question Id : 92090611194 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dl Ugft fus tailevu & SR gl 87

(m  iffee 2) Mefem
@) vaRERe s @) TR
Options :

92090644217. 1
92090644218. 2
92090644219. 3
92090644220. 4

Question Number : 56 Question Id : 92090611195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bacteria protect themselves by fragmenting viral DNA upon entrv by:

(1) Endonuclease (2) Methylase
(3) Ligase (4) Exonucleases
Options :

92090644221. 1
92090644222. 2
92090644223. 3
92090644224. 4

Question Number : 56 Question Id : 92090611195 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F&mtg?mmnﬁaﬂhm,maﬁwﬁw%@ﬁmq&@ﬁm CRCRIE
CTGEA

(1) TERfFaTE (2) foursas

@) g (4) UeERgfEaay

Options :

92090644221. 1
92090644222. 2
92090644223 3
92090644224. 4

Question Number : 57 Question Id : 92090611196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

In Reverse Phase Chromatography

(1)  Mobile phase is polar, stationary phase is non polar
(2)  Both mobile and stationary phases are polar
(3)  Mobile phase iz non polar, stationary phase is polar

(4)  Both mobile and stationary phase are non polar

Options :

92090644225. 1
92090644226. 2
92090644227. 3
92090644228. 4

Question Number : 57 Question Id : 92090611196 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JapH yawy gufcfast 3 -

(1) Ticreie vawn ydig 8, R yawn siyda g
(2) &l afoefie @ fer e yda g

(3)  Tiicreie e siedly g, fRR uaw ydia g
(4) el g fer vewd syda )

Options :

92090644225. 1
92090644226. 2
92090644227. 3
92090644228. 4

Question Number : 58 Question Id : 92090611197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At isoelectric point, proteins have:

(1)  Positive Charge (2) Negative Charge
(3) Neutral (4) No net Charge
Options :

92090644229. 1
92090644230. 2
92090644231. 3
92090644232. 4

Question Number : 58 Question Id : 92090611197 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Forfayd faeg o Wida @19 91 e T 82

(1)  o-T&E a9l (2) PRI A
3) JerH (@) 3maw ed
Options :

92090644229. 1
92090644230. 2
92090644231. 3
92090644232. 4

Question Number : 59 Question Id : 92090611198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In xylem, which type of transport is present?

(1) Unidirectional (2} Bidirectional
(3) Multidirectional (4) No transport
Options :

92090644233. 1
92090644234. 2
92090644235. 3
92090644236. 4

Question Number : 59 Question Id : 92090611198 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sige | {54 TR &1 Hag- ur il 87

(1) TSy @ it
3) aghf (4) @I H Hdg el
Options :

92090644233. 1
92090644234. 2
92090644235. 3
92090644236. 4

Question Number : 60 Question Id : 92090611199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term ecosystem was coined by:

(1) A.G. Tansley (2) Louis Pasteur

(3) E.P. Odum (4) M. Tawett



Options :

92090644237. 1
92090644238. 2
92090644239. 3
92090644240. 4

Question Number : 60 Question Id : 92090611199 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il sgraeh # vl Sild & wipfas e &t 1 Sl 21
(1)  SUgdd w14 (2) Sfied

(3) «EMH (4) A

Options :

92090644237. 1
92090644238. 2
92090644239. 3
92090644240. 4

Question Number : 61 Question Id : 92090611200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In ecology terminology, the natural residence of every organism is known as:

(1) Niche (2) Hahit
(3) Biome (4) Habitat
Options :

92090644241. 1
92090644242. 2
92090644243. 3
92090644244. 4

Question Number : 61 Question Id : 92090611200 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRTHEge fohaes o o S €7

(1) Y WHEH ITA g & Rl (2) <TedH ITAEH & ferg
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Options :

92090644241. 1
92090644242. 2
92090644243. 3
92090644244. 4



Question Number : 62 Question Id : 92090611201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Xerophytes:

(1)  Grow in a dry place (2} Grow in swamp

(3) Grow in a very humid place (4) Grow in seawater
Options :

92090644245. 1
92090644246. 2
92090644247. 3
92090644248. 4

Question Number : 62 Question Id : 92090611201 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wRHge faees for o o &7

(1) b R I0d g9 & ferg (2) Tdgd d A gH & ol
3) dgddEWFEAIUEER TN (4 R F S@ dIud @A F fom

Options :

92090644245. 1
92090644246. 2
92090644247 3
92090644248. 4

Question Number : 63 Question Id : 92090611202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The final electron acceptor in lactic acid fermentation is:

(1) Oa (2) Lactic acid
(3) NAD+ (4) Pyruvate
Options :

92090644249. 1
92090644250. 2
92090644251. 3
92090644252. 4

Question Number : 63 Question Id : 92090611202 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



tfdes s & fPvaa & sifor sdem ardl .

(1) 0z (2) &
(3) NAD* (4) U
Options :

92090644249. 1
92090644250. 2
92090644251. 3
92090644252. 4

Question Number : 64 Question Id : 92090611203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The activity of a species determines communmity structure in spite of their low
abundance or biomass; that species 1s called as:

(1) Keystone species (2) Dominant species
(3) Abundant species (4) Evolutionary species
Options :

92090644253. 1
92090644254. 2
92090644255. 3
92090644256. 4

Question Number : 64 Question Id : 92090611203 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o v o I g 0 o wifia &t nfafafy srgeiie dvam @) Raffa swd g2

(1)  Huruer wee 2wy wieftw
3) e efisfia 4) fawrgard widfiw
Options :

92090644253. 1
92090644254. 2
92090644255. 3
92090644256. 4

Question Number : 65 Question Id : 92090611204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The species that first colonize in new habitats created by disturbance is known as:

(1) Dominant species (2) Late Successional species
(3) Pioneer species (4) Novel species
Options :

92090644257. 1
92090644258. 2
92090644259. 3
92090644260. 4

Question Number : 65 Question Id : 92090611204 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 offtefte & o wed € off sy & sru PAffa v snarg § gduun sufaw s 82

(1) et et 2) A mie wieia
@) dfafR o) st @) = wiefle
Options :

92090644257. 1
92090644258. 2
92090644259. 3
92090644260. 4

Question Number : 66 Question Id : 92090611205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lichens 1s a well-known indicator of:

(1) Water pollution (2) Land pollution
(3) Aar pollution (4) Noise pollution
Options :

92090644261. 1
92090644262. 2
92090644263. 3
92090644264. 4

Question Number : 66 Question Id : 92090611205 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w5 fdgas o1 O ga& 87

(1) o GgHul (2) U UgHul
(3) S ugH (4) eaf ggm
Options :

92090644261. 1
92090644262. 2
92090644263. 3
92090644264. 4

Question Number : 67 Question Id : 92090611206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Polygyny means:

(1) One male mates with several females
(2) One female mates with several males
(3) One female mates with one male

(4) One male mates with one female

Options :

92090644265. 1
92090644266. 2
92090644267. 3
92090644268. 4

Question Number : 67 Question Id : 92090611206 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qgUd I &1 R 314 g7

(1) U GoY s [adl & 91y G & g
(2) UD T S ol & G W B B

(3) UF WU g1 goy & 91 B g

(4) U JEH Ueb g1 &l & 1Y HTH 1 8

Options :

92090644265. 1
92090644266. 2
92090644267. 3
92090644268. 4

Question Number : 68 Question Id : 92090611207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Humans are:

(1) K selection species (2) r-selection species
(3) both k and r-selection species (4) none of these
Options :

92090644269. 1
92090644270. 2
92090644271. 3
92090644272. 4

Question Number : 68 Question Id : 92090611207 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

agEm_ #

(1) K Tafa oigfs 2) - gaa wftefe
@) K aul - gafia wfiwfe S 4) T IS TRl
Options :

92090644269. 1
92090644270. 2
92090644271. 3
92090644272. 4

Question Number : 69 Question Id : 92090611208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Assertion A : Trichodesmium, a filamentous, non-heterocystous cyanobacterium

fixes Ns under aerobic conditions in Dead Sea.

Reasons R : Trichodesmium contains a specialized hyaline vegetative cell called

‘diazocyte’ which protects nitrogenase from Ozinactivation.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct



Options :

92090644273. 1
92090644274. 2
92090644275. 3
92090644276. 4

Question Number : 69 Question Id : 92090611208 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 @ Fy BT MU T U AUFUA (Assertion A) F U ¥ fafad § @ gOv 39S SR
(Reason R}%Fﬂ ba

ANFYT A . TOSSENTOH, TS dguy, Te-gidiey wnEEean agdl fufa §
Argere & are SR d Feifa s gl

HRUIR - e ieafan § ue fafdy sy arafd i et & B e
FEd ¢, ol & FRfspgu & o Aoy & qféa s gl

JUT HYA F e d, A2 3y o fasedl ¥ 9 998 Iugad I &1 994 Bifee

() AR Gl § iR R A BT BN 8

(2) A SIRREH Gl g, Afb R A B ! RSN el ©
(3) AYEIE AfFTRTE TE 2

4 AWHETEIE AfETREEE

Options :

92090644273. 1
92090644274. 2
92090644275.3
92090644276. 4

Question Number : 70 Question Id : 92090611209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Assertion A : Polysiphonia posseses triphasic life cycle- Gametangial phase,
Carposporophytic phase and tetrasporangial phase,

Carposporophyte 1s a minute microscopic phase.

Reasons R : Carposporophyte i1s found in female gametophytic plant.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644277. 1
92090644278. 2
92090644279. 3
92090644280. 4

Question Number : 70 Question Id : 92090611209 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A & FYA AU MU §: U HUHUA (Assertion A) F Y H ffEd g o gEU IHS RO
(Reason R) & ¥0 H:

AP YT A . OfcitaBIFT &1 Beeri didd 96 g § - gUSYEE saw,
Hfete] Igfig e oy gereiie! s@wni gl

HRUIR : Sfdtan 3gfig o griseiiel urgy & orr o 2|

IR HUF & i H, 19 U U fdwedt # 9 98 Suga I $1 994 By

(1) ARREH GE E IR AP G ATBN B

2 AR REH UE §, AfFT R A B UE TSI G B
(3 AWl E Al R HE TET

4 AGSTEIE AfBTR TR E

Options :

92090644277. 1
92090644278. 2
92090644279. 3
92090644280. 4



Question Number : 71 Question Id : 92090611210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A

Reasons R :

N-fertilizer 1s added in rice field in the form of ammonium salt and
urea, which 1s rapidly converted into nitrate. Nitrate 1s assimilated
by plants, however, much proportion is leached, percolated into

ground water or return to atmosphere in the form of N2 gas.

Bacteria such as  Pseudomonas  denitrificans, Paracoccus
denitrificans and Thiobacillus denitrificans are involved 1n

denitrification process.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644281. 1
92090644282. 2
92090644283. 3
92090644284. 4

Question Number : 71 Question Id : 92090611210 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FRd e

@Y | : N-IJRS B 4H S A T ey daur qur g & wu § Sra ardn g, o diaar 3
gere # ufafda g o 81 Agde uiY g1 wwafde € o 8, grenfe, suen
S o § Farad 81 ol &, 't & R o # R o § @1 agHea |
M. T & &0 H it 3 Sl g1

&Y || . YemFRigTERibed, Waisafeasieirea au udafiay fEasiive= ob
daeitvar farsdteyn & ufpa & mfta 89 €

IUad YA & e F, 2 i3y 0 fasedl ¥ 9 9ed Iuged I &1 999 Hifog

1y FYTIR i aa e
@ &Y R0 ST s B
(3) HYTIEE, ABTFY 1 a8
) U ade afFTsrEnaag

Options :

92090644281. 1
92090644282. 2
92090644283. 3
92090644284. 4

Question Number : 72 Question Id : 92090611211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A : Azolla, a tiny aquatic fern is used as biofertilizer in rice cultivation.

Reasons R : Azolla form symbiotic association with Ns — fixing eyvanobacterium

Anabaena azollae.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 18 NOT the correct explanation of A
(3) A 18 correct but R 1s not correct
(4) A 18 not correct but R 1s correct
Options :
92090644285. 1

92090644286. 2
92090644287 3



92090644288. 4

Question Number : 72 Question Id : 92090611211 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faGivyafRum e

HYA | il U @Y STty guii § forgest Iuaet ¢ &1 @t § Ue Saddie & w9 o
fvar e 21

HUF I - NzﬁTwmmmm$wmwmm
T 81

JUIER HYF & afcle H, - U U st § 8 9ad Juge Il $1 994 S

(1) ®YIARISHIIIE

2 &Y 3R SE SR '

(3) HYIFAE, AFA FUT 1 T B
@) HYIHEI B, ABTBYA 1 TI B

Options :

92090644285. 1
92090644286. 2
92090644287. 3
92090644288. 4

Question Number : 73 Question Id : 92090611212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : Purine and pyrimidine biosynthesis is eritical for all cells.

Reasons R : Purine and pyrimidine molecules synthesize ATP, several cofactors,

and other important cell components.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct
Options :
92090644289. 1
92090644290. 2
92090644291. 3
92090644292. 4

Question Number : 73 Question Id : 92090611212 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 € FU AT MU ¢ TP AUSYA (Assertion A) F F  H fafEa § @ To01 I8 SRU
(Reason R}%Fﬁ =

ey A . oF gy RfER & Sadrawe g SRt & e sfed g

HRUIR : oA aur faRvfafes sn) vt di. uftaws seare aur s agaygul Sl
ﬂaaﬂaﬁmmmm&ﬂq?l

IUa YA F STt F, A2 Ay U fasedl ¥ § 998 Jugad e &1 999 Sifee

(1) ASRRIA GEE SRR A B GE TATEN §

@ AR R GE E afda r A B ren E e
(3 AYe g e RS T8

4 AURITeIE AfFTIRTEIR

Options :

92090644289. 1

92090644290. 2



92090644291. 3
92090644292. 4

Question Number : 74 Question Id : 92090611213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : The monomers of DNA are called deoxyribonucleotides.

Reasons R : The nitrogenous base in DNA 18 deoxy.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct
(4) A 18 not correct but R 1s correct
Options :

92090644293. 1
92090644294. 2
92090644295. 3
92090644296. 4

Question Number : 74 Question Id : 92090611213 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 & FU AU MU ¢ TP AUSYA (Assertion A) & FU  H fafEd 8 O To0 I¥S SR
{Reason R}*Fﬂ T

HiBYT A . BTAL & Thas! & [Safafiugdrgfaaiees $&d g1
HRUIR : Sluan ¥ Ao e e 8
IUIE HYF & e §, A R v fawedt | § Hed Suged I &1 99 Sl

1 AR GE E MR A B T TATEN B

2 AR R el E AP R A B UE rEN TE §
(3)  AYE!E Al R Hel eI 8

4 AUelITEle AfbIRTEI R

Options :

92090644293. 1
92090644294. 2
92090644295. 3
92090644296. 4

Question Number : 75 Question Id : 92090611214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s
labelled as Reason R

Assertion A : Coupled transcription and translation is possible in bacterial and
archaeal cells.

Reasons R : In bacterial and archaeal cells, nuclear envelope does not separate
the translation machinery from DNA.

In the hight of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644297. 1
92090644298. 2
92090644299. 3
92090644300. 4



Question Number : 75 Question Id : 92090611214 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A2 & FU QT T §: TP AUSYA (Assertion o) & F0  H fafEd § @ g6 39S SR
(Reason R) & &4 H:

HHGYA A . WG Tl STl SRSl H Hifoa sraEd iR R §4d 3

HRUIR : Slanel aul el SifkEeld d Afbely onqu SltAT # § RIHER
T 1 gy g B

IURad HY & Tate 8, A 3 o fawedt | 8 ged Suged I &1 99 Bifeg

() ASRREH GE E IR R AP O ATEN B
2 A3MRRIE GE E, A R, A B GE TSN T B
(3 AHel®, Al RuE TETE
(4 AGETEE ABTIRTEIE
Options :
92090644297. 1
92090644298. 2
92090644299. 3
92090644300. 4

Question Number : 76 Question Id : 92090611215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A:  The diauxic growth curve of E. coli 1s obtained when grown with a
mixture of glucose and lactose

Reasons R The enzymes for lactose catabolism are constitutive.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct

(4) A 18 not correct but R 1s correct



Options :

92090644301. 1
92090644302. 2
92090644303. 3
92090644304. 4

Question Number : 76 Question Id : 92090611215 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A2 @ FU AT M §: TP AUSYA (Assertion o) F T H fafEd § @ To 35S SR
(Reason R) & ©0 H:

ANFYA A ;5 Bicll & sRHfdaDals o B e aul dacid & s & ary fasfe
EzfEicI

BRUIR ; ARy STy P g g Hufed g1a B

IUad Y & e F, 2 i3y o fasel & § 99l Iugad I &1 994 Bifee

(1) A SRR Gdl € iR R A B Tl aren §

(2 AR R HE 8, Al R, A B Hel ST Rl ©
3 AWl g Ul RTE T8

4 AGHTEE, dAFTIR UG T

Options :

92090644301. 1
92090644302. 2
92090644303. 3
92090644304. 4

Question Number : 77 Question Id : 92090611216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason R

Assertion A:  The transfer of genes from parents to progeny is called vertical gene
transfer.
Reasons R :  The genes from one independent bacterial cell can be transferred to

another bacterial cell,

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 15 correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644305. 1
92090644306. 2
92090644307. 3
92090644308. 4

Question Number : 77 Question Id : 92090611216 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 @ FY 3T MU & U AUFUA (Assertion A) & U T fafad 8 @ gav 39S SR
(Reason R) & ¥4 T:

ey a - Aral-fan @ dafa § ot &1 iR o gsaia sgard gl

HRUIR - m;rﬁmaaﬂamﬁrﬁmwﬁﬁ&mﬁsﬂqﬁw%mm
Tl g

TURIE S & Hate O, A Ry o fdwed § 8 gad Iuge I &1 999 Sy

(1 A3MRRIHE GE § iR R A B G B §

2 ARRIHE G E, AP R A B TS SN TE ©
3) AWelE AR TG TS

(4 AWl TelE AfPIRUER

Options :

92090644305. 1

92090644306. 2

92090644307. 3
92090644308. 4



Question Number : 78 Question Id : 92090611217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A:  Nitrate is produced during nitrogen cycle.

Reasons R : The microorganisms use nitrate as a terminal electron acceptor

during anaerobic respiration.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A 18 correct but R 1s not correct
(4) A 18 not correct but R 1s correct
Options :

92090644309. 1
92090644310. 2
92090644311. 3
92090644312. 4

Question Number : 78 Question Id : 92090611217 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 & FY QU MU ¢ T AUSYA (Assertion o) & &0 H fafEa § @ To0 35S RO
(Reason R) & ©4 H:

HUFYT A © S IHV H A5 oA &1 IdE il 8l
FRUIR : AT Yo+ H geaold! A1gee &1 IUArT U sifan gdac udl &1 avg

GEG A

JUT HYA F e 1, A2 Gy v fasedl § @ 998 Juged I &1 994 Bifee

(n
(2
(3)
(4

A 3R R G el € SRR, A BT T ATET B

A 3R R G GE €, A R, A BT e sarEn el 8
A el €, s R WETTET 8

ATE TET 8, AfFT R TR R



Options :

92090644309. 1
92090644310. 2
92090644311. 3
92090644312. 4

Question Number : 79 Question Id : 92090611218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : Taxol 18 used in chemotherapy against cancer.

Reasons R :  Taxol preferentially kills tumor cells.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644313. 1
92090644314. 2
92090644315. 3
92090644316. 4

Question Number : 79 Question Id : 92090611218 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



412 Q| FYA QU U T 0 UG (Assertion A) F 0 ¥ foifed & @ O 39S SR

(Reason R) HFEY H

HUGY A - HER & favg B o arell Tfaieen & Toula &1 3uan fea s g1
HRUIR: eaata siftrmraa: srfg Sifreis &) 9y ST ar g
JURIa Sy & e 5, - 3y o et | | gad Iuged I & 994 Siforg

(1) AR GE E MR AP G ARBN §

2 AR S € A R A B G aamEn TE R
(3) AWElE ARG TR

(4 AGEITEIE AfFTIRTET R

Options :

92090644313. 1
92090644314. 2
92090644315. 3
92090644316. 4

Question Number : 80 Question Id : 92090611219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A :

Reasons R

Sickle-cell anemia (HbS) disease has the most common form of

abnormal hemoglobin.

Erythrocytes of Sickle-cell anemia patients adopt a sickle shape

(crescent-like) at low oxygen concentration.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :
92090644317. 1



92090644318. 2
92090644319. 3
92090644320. 4

Question Number : 80 Question Id : 92090611219 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

92 2 Fu Y MU § 0P AUSYA (Assertion A) F T H fafEa @ O 0 I5F SRO
(Reason R) & ¥4 H:

JffirFu A m%mmebs}mmmmmmaﬁm
TUEI

HROIR - TH-HIADT 3R ard A &) AT T BiorE SE & PR ([TEER
1 d¥E) B gV HL Al & |

IUa HYA & Mate 5, A 3y o fAwed | ¥ wed Suged I &1 994 Sifog

(1) ASMRREH 98l § MR A B OE ATEN B

(2 AR R G E, AP R A B | R TR B
(3 AWE T Afd R TEl TET R

(4 AWETele AfPTIRIE R

Options :

92090644317. 1
92090644318. 2
92090644319. 3
92090644320. 4

Question Number : 81 Question Id : 92090611220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason R

Assertion A :

Reasons R

DNA fragments with sticky ends are particularly useful for
recombinant DNA experiments.

The single-stranded sticky ends can easily pair with any other DNA
fragment having complementary sticky ends.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A

(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644321. 1
92090644322. 2
92090644323. 3
92090644324. 4

Question Number : 81 Question Id : 92090611220 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
2 & HyF AU M §: TP SHUHUA (Assertion A) F FU  H fafEd § o U 39S R0

(Reason R) & ¥4 H:

didy A . Foofn B 9@ Sl E@s fagw w9 9 gdafon Sleau want &
THIEHRI B B

HRUIR - UL F Ushdg a9 fRufn RR Sl & o d@s s e fRufen
e € & wry 3t @ oiet §91d §

IUT YA & e F, 2 3y v fasedl 8 9§ 998 Iugad I &1 999 Bifere
(1) AMRRIH T E SRR A P UG RSN B
@ AR EE E BT R A B wdt ren el

(3) AHAE AfPArEH AT
(4 AYEIEl 6, AfBTREGI R

Options :

92090644321. 1
92090644322. 2
92090644323. 3
92090644324. 4




Question Number : 82 Question Id : 92090611221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : All eluents for use in HPLC systems must be specially purified.

Reasons R : The traces of impurities in eluents cannot affect the column and

interfere with the detection system.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644325. 1
92090644326. 2
92090644327. 3
92090644328. 4

Question Number : 82 Question Id : 92090611221 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 & FU AU MU §: TP AUSYT (Assertion o) & FU  H fifEd § @ To0 I9S FRU
(Reason R) & ¥4 H.

iy A - Tadiua ) vorelt § Sudi &A & o gt anaet &) 99w wu § wifaa
e s =nfgul

HRUR: mgmaﬁﬁmﬁumaﬁmmmmﬁm
|
SURIE HY & rare |, A R v fFwed | 9 998 Sugw I 1 997 B

(1) A3MRREF TE § SRR A B UG RSN §

2 A3MRRIH Gl € A r A Bl s 6 R
(3) AWEIE ARSI TR

4 AGETEIE AfETREE R

Options :

92090644325. 1
92090644326. 2
92090644327. 3
92090644328. 4

Question Number : 83 Question Id : 92090611222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other is
labelled as Reason R

Assertion A : Type II restriction endonucleases recognize and cleave DNA within
particular sequences of four to eight nucleotides referred to as
palindromic sequences.

Reasons R :  The palindromic sequence is similar to words that read the same
backward as forward.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 18 correct but R 1s not correct
(4) A 18 not correct but R 1s correct
Options :
92090644329. 1
92090644330. 2

92090644331. 3
92090644332. 4



Question Number : 83 Question Id : 92090611222 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 & TuA RY MU § 0P SUSYA (Assertion A) & T H fafEd @ O o0 39F RO
(Reason R}%Fﬂ =

HNHYT A . TRY 1 &Y CSgfdauiiy, Avan i fady wH IR d a1e
ﬁ%gﬁmﬁaﬂmmmm% aﬁmamm
ETGIR

HRUIR - ﬁﬁgﬂnwﬁm%ﬂﬁmﬁﬁﬂﬂamaﬁwwmm
Einkd

JUT YA F AT d, A2 Ay o fasel & 9 998 Iuged I &1 999 Bifee

(1 AR Gl € iR R A B Hd arEn §

(2) A SIRREH Gl Afb R A B ! SIS el ©
) AWl E AR EE TR

4 AWeTElE AfETR TR R

Options :

92090644329. 1
92090644330. 2
92090644331. 3
92090644332. 4

Question Number : 84 Question Id : 92090611223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A :

Reasons R

Silent mutations change the nucleotide sequence of a codon but do

not change the amino acid encoded by the codon.

A single base substitution can change a codon for one amino acid into

a codon for another.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct but R 18 NOT the correct explanation of A

(3) A 18 correct but R 1s not correct

(4) A 18 not correct but R is correct

Options :

92090644333. 1
92090644334. 2
92090644335.3
92090644336. 4

Question Number : 84 Question Id : 92090611223 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A2 & HyF U T §: TP SUHUA (Assertion A) F FU  H fafEd § O U 39S SR

(Reason R) & 0 H;

UG A - USH JANAd Ude F YfFauerse $9 & 92 2d @ R
- mmqﬁgmﬁmm e
FRUIR: TR Ui, Ua offi e e & fou faeht uee @1 g ude § o
efi=t uftrs & forg afvafdfa s 3an &)

TR HYF F oTare 1, 1 3y U fawed # ¥ 998 Iuge 3w S 997 S

() ASMRREF G E SRR A O BN B

2 AR RIE GF € A R, A B TG TSN TE B
) AWEIE AFTRES TR

@ ATRITEE, TR R UET 8

Options :



92090644333. 1
92090644334. 2
92090644335. 3
92090644336. 4

Question Number : 85 Question Id : 92090611224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A: Some gram-positive bacteria form endospores.

Reasons R : Endospore does not contain dipicolinic acid.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644337. 1
92090644338. 2
92090644339. 3
92090644340. 4

Question Number : 85 Question Id : 92090611224 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

42 @ FYA QU MU T U AUGUA (Assertion A) & U ¥ forfad g @ TOv 39S RO
(Reason R}%Fﬂ T

B A : B TH-UHS Sa0] FHGREE §1d 81
HRUIR - gadgiig ¥ R s 78l ganl
JUIE HYF & HTale H, A 37 T fasedt d | 58 Suga I &1 994 By

(1) ASMRRIH E E MR AP GE AATBN §

@  A3MRREH WE € AfFT R A o U rEn T R
@ AU E e Ed E R

(4 AWl Tele AfPTRUENR

Options :




92090644337. 1
92090644338. 2
92090644339. 3
92090644340. 4

Question Number : 86 Question Id : 92090611225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement I  : Microorganisms are defined as those orgamisms and acellular

biological entities too small to be seen clearly by the unaided eye.

Statement IT : All organisms with Prokaryotic cell structures were placed in

Monera.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement 1II are incorrect
(3) Statement I 1s correct but statement 11 1s incorrect

(4) Statement I 1s incorrect but statement II 1s correct

Options :

92090644341. 1
92090644342. 2
92090644343. 3
92090644344. 4

Question Number : 86 Question Id : 92090611225 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



412 & FU AU MU ¢ TP AUBYA (Assertion A) & FU  H fafEa § @ g6 I8 RO
(Reason R) & ¥4 H.

fide A . Geroid 3 oa SR e R Hfae Tl § o ga-t gem § R fan o1
Herad U {63 sifa! g\ wu 4 @1 8 o 9l

HRUIR apfedie SR dvam ard gt offdl @) e & sfafa v fan
IUIa YA F i H, A2 Ay U fasedl ¥ 4 9a9 Iuged T &1 994 Bifee

(1) AIMRRIA GE € SRR A P G BN B

@ AR REHE GE § A R A B L e TE 8
(3) AWEIE Afb R uE E R

4 AWRITEIE AfFTRTEIR

Options :

92090644341. 1
92090644342. 2
92090644343. 3
92090644344. 4

Question Number : 87 Question Id : 92090611226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement I : Algae are photosynthetic.

Statement IT : Slime molds are protists that behave like protozoa in one stage of

their life eyele but like fungi in another.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but statement 11 1s incorrect
(4) Statement I 1s incorrect but statement IT 1s correct
Options :
92090644345. 1

92090644346. 2
92090644347. 3



92090644348. 4

Question Number : 87 Question Id : 92090611226 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3 Ty 3u MU §: P SUEYT (Assertion A) & ®U ¥ ffEd § O THU 389G HRUI
(Reason R) & ¥1 H:

Aftry A - DaTd UHTIHEN S ¢

HRUIR: TISH Hics U8 Uolld § off 30 offa 9 &1 UF g & wiersian 1 oavg
FAER B4 & fbd GO IR H A Fad 1 dve TR P 8 |

IURIEd By & e §, A 3 o fawedt | 8 wed Iuged 3T &1 98- Bifog

(1) A3MRREE T E AR R A P UL ARSN §

(2 AR REH HEl E, Afd R A B Hel SN TR B
3) AWelE ARG e

4 AWl Tele dPIRTEE

Options :

92090644345. 1
92090644346. 2
92090644347. 3
92090644348. 4

Question Number : 88 Question Id : 92090611227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(;iven below are two statements :

Statement I : Prokaryotes possess three cytoskeletal elements: actin filaments,

microtubules, and intermediate filaments.

Statement IT : The S-layer has a pattern something like floor tiles and is composed

of protein or glycoprotein.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but statement II 1s incorrect

(4) Statement I 1s incorrect but statement II 1s correct

Options :

92090644349. 1
92090644350. 2
92090644351. 3
92090644352. 4

Question Number : 88 Question Id : 92090611227 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R vy Ry :
Sy | disidie § ffF grieideR dd Ut o § : ufde dg, genferatd, ofi gerad dg)

HYA I : %mﬁﬁmw@maﬁmmm%mﬂmmmﬁ
|

IUIad By & sl |, A U U fasedt # 9 9el uged I 1 994 ey
(1) @Y ISR Ta g
@) B R EE s B

(3) HYTI IR AFTFU N A8
(4) HYTI AL AFTFYA N TS

Options :
92090644349. 1
92090644350. 2



92090644351. 3
92090644352. 4

Question Number : 89 Question Id : 92090611228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Estuaries can be defined as meeting place of river with ocean.

Reasons R : Estuaries support minimum diversity of algae.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R is not correct

(4) A 18 not correct but R 1s correct

Options :

92090644353. 1
92090644354. 2
92090644355. 3
92090644356. 4

Question Number : 89 Question Id : 92090611228 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 S wyE R Mg &

HYA | : Al YT HERIFR & e &1 I &) SaRAGHE $ed ¢

HY || - WRMFGHE Fard @t Fraad fiftEam sa a g

I HYF F arare 1, A Ry e fawedt | | wed Iuge IOl &1 999 i
()  wuT R g g

@  HY R g e B

(33 HYFI A g dfFTFU 1 3T
@) YT A e AP YT g

Options :

92090644353. 1
92090644354. 2
92090644355. 3



92090644356. 4

Question Number : 90 Question Id : 92090611229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Assertion A: Thermal vents are found on the floor of ocean. Temperature of ocean

floor is zero degree centigrade.

Reasons R : Thermal vents support the growth of thermophilic bacteria.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 18 not correct but R 1s correct

Options :

92090644357. 1
92090644358. 2
92090644359. 3
92090644360. 4

Question Number : 90 Question Id : 92090611229 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 sy Ry #:

HYF | - RN & dd IR gR UTY 91d § | R & ad W agdH o° HE98 gian g1
HYA || : S GR AR sita] @1 3 & g@ea g

JUT YA & Tt F, A2 2y o fasedl ¥ § 999 Iugad I &1 994 Sy

(1)  ®YIR I EaE
(2) HYI RN SE T8
3) ®YI9d e AfF T sy g
(4) HYI HEI R, ABTFYA I TI B

Options :
92090644357. 1
92090644358. 2



92090644359. 3
92090644360. 4

Question Number : 91 Question Id : 92090611230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s

labelled as Reason R

Assertion A : Peptidoglycan 1s a particularly effective target for antimicrobial
agents.
Reasons R : Peptidoglycan 18 an important component of bacteria cell wall

structure and function and 1s absent 1n animal cells.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A 1s correct but R 1s not correct

(4) A 1s not correct but R 1s correct

Options :

92090644361. 1
92090644362. 2
92090644363. 3
92090644364. 4

Question Number : 91 Question Id : 92090611230 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



42 & FY QU MU ¢ T AUSYA (Assertion o) & &0 H fafEa § @ To0 35S RO
(Reason R) & ®©0 H.

YT A wmmwaammawnmm
1

HRUIR - QtEemed Siiafs SR iR Ta R &1 &1 v ggaygyf o gl
& ot gg uht Sifreist & &l ar S

IR HYF F are |, - 3y e fawedt # | 998 Iuge I &1 997 Sy

() AMRIA UL E MR ABI T BN

@ AR RIA G € AfF R A B Tt Emen T R
(3 AWl e, Ufh R Hel 6T ©

(4 AW el AfFTIRTEIR

Options :

92090644361. 1
92090644362. 2
92090644363. 3
92090644364. 4

Question Number : 92 Question Id : 92090611231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last I1:

Last I Last 11
(A) Cyanobacterial cell wall (I)  Reproductive structure
(B) Akinetes are perennating (II) Muramic acid
structures
(C) Heterocyst (ITI) Survive cold stress
(D) Hormogonia (IV) N;-fixation

Choose the correct answer from the options given below :

() (A)-(ID), B)-(D), (C)-(I), (D)-IV)
(2)  (A)-D), (B)-(ID), (C)-(IV), (D)-(T)
(3)  (A)-(D), (B)-(11), (C)-(I), (D)-(IV)
(4 (A)-D), (B)-AV), (C)-(1D), (D)-(T)

Options :

92090644365. 1
92090644366. 2
92090644367. 3
92090644368. 4



Question Number : 92 Question Id : 92090611231 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
| &y e S

- Gt I
&) grEE I &t 0 U @A
63 EICAREY
(B) q_frﬂ'-ﬂzﬁmﬁm ) TS e B
g 8
€ eedfte ay  oid uvE | o war el
(D)  BRHEFTAET avy o
Hid fau o fasedi # 9 9el IR &1 94 i
(1) (A)-(y, (B)-(1, (C)-(1), (D)-(IV)
(2)  (A)-(), (B)-(), (C)-(IV), (D)-(1)
(3) (AN, (B)-(I), (O)-(1), (D)-(IV)
(4) (A, (B)-(V), (-1, (D)-(1)
Options :

92090644365. 1
92090644366. 2
92090644367. 3
92090644368. 4

Question Number : 93 Question Id : 92090611232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT:

Last I Last 11

(A) Firmicutes with low GC (I) Chromatium
content

(B) Firmicutes with high GC (II) Burkholderia
content

(C) Proteobacteria (ITI) Bacillus

(D) Photosynthetic bacteria (IV) Actinobacteria

Choose the correct answer from the options given below :

(1) (A)-(III), (B)-(IV), (C)-(1I), (D)-(I)
2  AW)-(D, (B)-1I), (C)-(I1I), (D)-(IV)
(3)  (A)-ID, B)-(1), (C)-(aD), (D)-(IV)
4 (A)-AV), (B)-AI), (C)-(D), (D)-(I1L)

Options :

92090644369. 1

92090644370. 2

92090644371. 3
92090644372. 4

Question Number : 93 Question Id : 92090611232 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wl | & Yy g 1 A S

- -

o) 6c gEn A o @AfeTn
wHfeRge

@) I GC HE ad ay  sdfaafa
EHRE

© whfedasifom any  afderd

(D) VHTIEIET ey v) e
Fr2 fau mu fawedi & | wEt IT &1 994 S

(1 (A)-(11), (B)-(1), (C)-(111), (D)-(1V)
(2) (A)-(1), (B)-(113, (C)-(), (D)-(1V)
(3 {(A)-(D, (B)-(11), (C)-(V), (D)-(1n)
4 (A)-hny, (B)-(ny, (C)-(1), (D}-(V)

Options :
92090644369. 1
92090644370. 2



92090644371. 3
92090644372. 4

Question Number : 94 Question Id : 92090611233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mateh Last T with Last IT:

Last I List 11
(A) Azotobacter (I) Nitrification
(B) Nitrosomonas (II) Fern
(C) Thiobacillus denitrificans (ITI) Free-living N: fixing
bacteria
(D) Azolla (IV) Denitrification

Choose Lhe correct answer [rom Lhe options given below :

() A)-@, B)-AID, (C)-(1), (D)-(IV)
2 A)-O, B)-AID, (C)-(V), (D)-(1L)
(3)  (A)-ID), (B)-D), (C)-(AV), (D)-(1L)
(4)  (A)-(ID), (B)-(ID), (C)-1V), (D)-(D)

Options :

92090644373. 1
92090644374. 2
92090644375. 3
92090644376. 4

Question Number : 94 Question Id : 92090611233 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e | o T = 11 F e S

- Gt i
() TEEgaR () BT
(B) ArEerEEEY ay ooy
(© Urefyey iy FrefRor Sitam) @ wada afega
(D) 3ftal vy famEdie

19 feu e faeredl @ O O IR &1 994 S

(m (A)-(1), (B)-(1), (C)-(1), (D)-(IV)
(2) (A)-(1), (B)-(ln), (C)-(1V), (D)-(1)
(3) (A)-l), (B)-(N), (C)-(1V), (D)-(11)
(4) (A)-(1), (B)-(1), (©)-(1V), (D)-(1)



Options :

92090644373. 1
92090644374. 2
92090644375.3
92090644376. 4

Question Number : 95 Question Id : 92090611234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1:

Last I List II
(A) Lattoral Zone (I) Open water farther from shore
(B) Limnetic Zone (II) Closest to the shore
(C) Profundal Zone (IT11) Below the limnetic Zone
(D) Benthic Zone (IV) Bottom of the lake

Choose the correct answer from the options given below :

(1) A)-aD), (B)-(), (C)-(I1I), (D)-(IV)
(2)  @Q)-D), (B)-ID), (C)-IIL), (D)-(IV)
(3)  (A)-(1D), (B)-(D), (C)-(IV), (D)-(ID)
(4)  (A)-IID, (B)-AI), (C)-IV), (D)-D

Options :

92090644377. 1
92090644378. 2
92090644379. 3
92090644380. 4

Question Number : 95 Question Id : 92090611234 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W | &y g 1 e S

-1 It i

(A) deige Hed () HHsdE A QX gl od
@) Wl ofila ugw () HHEAC & HEd O
€y Trkgd Hed ay S SETRY F AR
oy Fraw Aga av) HE F aagdt

i fi3u mu fosedl # 9 "8t I &1 994 i

(1 (A)-(Iny, (B)-(1), (O)-(11), (D)-(1V)

(2) (A)-(1), (B)-(n, ()=, (D)-(1V)

(3) (AJ-(1), (B)-(), (C)-(V), (D-(11)

() (A)-(H, (BY-(), (C)-(1V), (D)-(1)

Options :

92090644377. 1
92090644378. 2
92090644379. 3
92090644380. 4

Question Number : 96 Question Id : 92090611235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Last I with Last IT:

(A)

B)

(©)

D)

Last I

Air Quality Index (AQI) =
51-100

Air Quality Index (AQI) =
101-200

Air Quality India (AQI) =
201-300

Air Quality India (AQI) =
301-400

List 11
(I)  Poor air quality

(IT) Satisfactory air quality
(IIT) Moderate air quality

(IV) Very poor air quality

Choose the correct answer from the options given below :

(1) A)-aD), (B)-D), (C)-(I1I), (D)-(IV)
2  A)-dD, (B)-aID), (C)-(D), (D)-(IV)
(3)  (A)-ID), (B)-(D), (C)-AV), (D)-(1I)
(4 (A)-(IID, (B)-AI), (C)-(IV), (D)-(D)
Options :

92090644381. 1
92090644382. 2



92090644383. 3
92090644384. 4

Question Number : 96 Question Id : 92090611235 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wt | & Try Y 11 BT e S

- Tt -
(&) ATYTOTE YABID (AQ1) = 51-100 () 4 Arg qorE
(B) AUl YAFHIP (AQ1) = 101-200 ()  HduWG I TUrE
(C) dIUIEl YIS (AQ1) = 201-300 (W) HEIH T UG
(D) SV AHIE (AQ1) = 201-400 (1v) 3l A g TurERn

A2 feu o faeredl # 9 9 3w &1 994 S

) (A)-(In), (B)-(1), (C)-(11), (D)}-(IV)
(2) (A)-(In), (B)-(H1), (©)-(1), (D)-(IV)
(3 (A)-(l), (B)-(1), {C)-(IV), (D)-{1)
(4) (A=, (B)-(1), (C)-(1V), (D)-()

—

Options :

92090644381. 1
92090644382. 2
92090644383. 3
92090644384. 4

Question Number : 97 Question Id : 92090611236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with Last II :

Last I Last I1
(A) Commensalism O  (++)
(B) Mutualism (ID) (+,0)
(C) Parasitism (IIT) (0,0)
(D) Neutralism aIv) (+,-)

Choose the correct answer from the options given below :

(D (A)-D. B)-1D), (C)-AV), (D)-(I11I)
(2)  A)-dD, (B)-1), (C)-0V), (D)-(I1I)
(3)  (A)-I), (B)-(D), (C)-(IV), (D)-(1D)
(49 (A)-ID), (B)-1I), (C)-1V), (D)-(I)

Options :



92090644385. 1
92090644386. 2
92090644387 3
92090644388. 4

Question Number : 97 Question Id : 92090611236 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el | & 1y gt 1 & e S

- Tt 1 (3fc:febm)
(A Geuferr M (+ +)
(8 IRIfEdr iy (+ 0
(C) TSt gy (0, 0)

o) JedFafmufEaa ov (s

19 e e faeredl @ 8 9! IR &1 994 S

(M (A, (B)-(), (©)-(V), (D)-(I)
(2 (A)-(), (B)-(1), (C)-(1V), (D)-(1n)
(3 (A)-(), B)-(1), (C}-(1V), (D)-(1)
4 (A)-(), (B)-(1), (C)-(1V), (D)-(1)

Options :

92090644385. 1

92090644386. 2

92090644387. 3

92090644388. 4

Question Number : 98 Question Id : 92090611237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT:

Last I Last I1
(A) Phototropism (I) Stimulus 15 a touch
(B) Thigmotropism (II) Stimulus is gravity
(C) Gravitropism (ITI) Stimulus 1s light
(D) Seismonasty (IV) Stimulus 1s shaking

Choose the correct answer from the options given below :

(L) (A)-IID), B)-(D. (C)-I), (D)-AV)
2)  A)-O, B)-AV), (C)-(D), (D)-(I1L)
(3)  (A)-(I), (B)-(II), (C)-1V), (D)-(I)
(4 (A)-I), (B)-(ID), (C)-(I), (D)-IV)

Options :

92090644389. 1
92090644390. 2
92090644391. 3
92090644392. 4

Question Number : 98 Question Id : 92090611237 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ot | F Ty g 1) @ e Fife

- -l
(W) UBTRITEA n e U IEE B
8 wRiad () 7o Ueb JEUD g
(€ TEEMdd (I UHT JEITF B
(D) FUAGHEA (v) Y9 IJeIUE g |

A f2n e o e § O 98 I &1 994 i

(1 (A)-(I1n), (B)-(1), (C)-(n), (D)-(1V)
(2 (A)-(1), (B}-(IV), (C)-(11), (D)-(1N)
(3) (A)-(1), (B)-(1), (O)-(IV), (D)-(1)
(4 (A)-(), (B)-(1), (C)-(1), (D)-(IV)

[y

Options :

92090644389. 1
92090644390. 2
92090644391. 3
92090644392. 4



Question Number : 99 Question Id : 92090611238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last II :

Last I Last II
(A) Xerosere (I) Community formation 1in
water
(B) Hydrosere (II) Community formation 1n
dry and arid area
(C) Lathosere (ITI) Commumty formation on
sand
(D) Psammosere (1V) Commumty formation on
rock

Choose the correct answer from the options given below :

(1) (A)-D, (B)-1D), (C)-(IV), (D)-(11I)
2)  (A)-, (B)-AV), (C)-1I), (D)-(1I)
(3)  (A)-ID), (B)-(D), (C)-AV), (D)-(11I)
(4)  (A)-ID), (B)-AV), (C)-(D), (D)-(I1I)

Options :

92090644393. 1

92090644394. 2

92090644395. 3
92090644396. 4

Question Number : 99 Question Id : 92090611238 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gl | & 91y gt || &1 feE $ifere

il G -1l
(&) HEHHSD o o H e favaE
(B) WCHUD () HE Tl Pk &9 F |gger faeH
€ odHAD Yo H gy faved

(D) ST FHS (v) T o) wer A
419 feu v fasedl § O 9l 3T &1 999 S

(n (A)-{1); (R)-(), (C)-(V), (P)-(1)
(2) (A)-(1), (B)-(IV), (C)-(M), (D)-(1un)
(3) (A)-(1), (BY-(1), (C)-(1V), (D)-(1)
4 (A)-l), (B)-(V), (C)-(1), (D)-(m)



Options :

92090644393. 1
92090644394. 2
92090644395. 3
92090644396. 4

Question Number : 100 Question Id : 92090611239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last 11 :

Last I List 11
(A) mRNA (I  Gene regulation
(B) tRNA (II) Peptidyl transferase activity
(C) rRNA (ITII) Adaptor for amino acid
(D) miRNA (IV) Messenger for gene expression

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(II), (C)-(I1I), (D)-(IV)
(2)  (A)-1D), (B)-(D), (C)-(1I), (D)-(IV)
(3)  (A)-(IV), (B)-(I1D), (C)-(11), (D)-(T)
(4)  (A)-IID), (B)-(IV), (C)-(I), (D)-(IT)

Options :

92090644397. 1

92090644398. 2

92090644399. 3
92090644400. 4

Question Number : 100 Question Id : 92090611239 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e | & 91y It 1 F e Fifen

-1 Tl i
(A) mRNA 1y o &1 fafaa
(B) tRNA ay  Oftesd @t vy nfafaf
(C) rRNA (any ST 3 BT SrIFTD
(D) miRNA vy o sfireafa & dewaEs

Fr fBu e el § @ 9l I &1 99 S

(M (A)-{1), (B)-(I1), (C)-(1), (D)-(IV)
(2) (A)-(1), (B)-(1), (C)-(11), (D)-(1V)
(3) (A)-(IV), (B)-(1), (C)-(1), (D)-(1)
(4) (A)-(), (B)-(1V), (C)-(1), (D)-(N)

—h

Options :

92090644397. 1
92090644398. 2
92090644399. 3
92090644400. 4



